ozt

5]

o 25 O ABT F 2 50 TS T

<
ol
NI

Nfo

T

9 o] AlF

1.



2.

x>2 AW e F x-2)7 - /202 9 727

© -2 @ -1 ® 0 @ 1



3.

VIO =¥ ] gtol 4Q%7t 5 S s 7}

ol

@1 @ 4 ® 7 @ 10 ® 15



4. 7T<V10x2 <120 AHUT

O +1 @ +2



5. U2 H7|9 5 Vila+b B2 UYetlS W, o 7t T2 A2 BF
AI2H?

[1]
B

@ 35 O 210

V68

—542 _

© -5V2 @ 7

0,60 006 006 ®Woo 006



6.

5v2 +3vV5x 610

5
=%

Fds



HRE festeldtiy AvV2 4+ BV6 ©] H9lth A+ B

A, BE 5284



10+3+5
29



o 3 V23 = 4.796 Y2 ol-goto] Ao ahE T £ A= A
R RN

@ v0.023 © V230

® +V0.23 ® V23000

@ 074 @ 174 @ 271 @ 37 ® 47

Mo



10. o3& 5 @%b -ab? 9 15 AL BF FekEt

@ ab?

@ a+b

5 L
=




The 7 Ao Al EAY W, a+ b O] gh& F5todeh (Fa>0)

9x2 +ax+1, 4x2+8x+b

L Eiatb=



12.

CFeHA 2 - 2r -3 &

D 2x-2

@ 2x+1



13. o 199 BE Gzt o

wolol et wolvk g2 A4

ArZYed o] g JH O] Aol &5
™H?

® x-6 @ x+6
® x-3 @ x+3

® x+2

o

]_

=T~ <

1

1
\

L= L= ]

10 1 1
. [ o







15.

G ol B [ | 27h 34l at St 2
zrom?

@ x> +3x-18=0 [-6)] @ 3x>-x-10=0 [-2]
® 2x? +8x+3=0 [3] @ 2x2-2x-4=0 [-1]

® x> +8x-100=0 [8]



16. Thg oA F o} ke shu?

e R R

® (3x+1)(4x—1) = @ (4x+1)(3x=1)=0

W =

® (6x+2)(8x—2) =



_.

2 @



18. (x-2)(x+6) =42 (x+a)? =b 9 B2 e 0, 4, b ©] FS
ol ?

D a=-2,b=-20 @ a=2,b=-20
® a=2,b=20 ® a=-2,b=-10

®a=-2,b=10



19.

(4% & F] A
are Fotofet.

Ehab =

31719
HiL =

a, V81 9] SO AlFTS b et



20. a>0 9, - \/(-5a)? & 13| Lrepiofat.

D L
=%



21.

1

2

8

=kV2 & o, k o 22



22. ohF I3 2ol A ABCD 4 AB
,BC & 77 @ Moz ste AANAYS
gy 1 gelzt 24zt 12, 75 o] E it
ol wj, AFZte ABCD 9] Hol&?

@ 10v3 @ 15 ® 15V3
@ 30 ® 30V3

Q




23. V72+2V8- V50 =aV2 oA a o] Ft& Fotofeh

Beoa-



24. 6x-x-A=
x2—x—A=(x+1)(Bx+C) @ W, A, B, C 9] & 77} Hstofet

RJe:a

L g B

Rec=



25.

O 22 -5x 4+ 29X +x-6 2 TF

O (x-2) @ (x+3)
@ (x+3)(x-2) ® (2x-1)(x-2)

o



